[—Rg=Et]

TN Rin

=
4 L)
R 204 z
El.j —
MU N e 1 3/5":‘ 3 m
fioB200ahs BH Contents 2~5p
’thgg_ RN BN ]\%’ﬁj{mﬁﬁ llyfgﬁ =1 7P
4 5 % Bk A O N 2 FAR20EETHE) 6
N TT SRR PRRREE A5 WA 1 O AR 8- 9P
10masOT(.5% - S 5 o K £ s 713 Uog .é{#fﬁ%%!h\a op
R °M MR T &0 1 B3 AhES 1P
il 4o i i 1,%&\:,’?°Ofm*iﬁ R BRG] ” 14P
TERSHE %EL?_EQZW E%i%ﬁggbéﬁﬁ Eiliﬁ .Fﬁﬁ_ié\téU ARk 15P
i 1201z 622 5 i 3 L s Y T e 16P
1;(500(());5) (37.5%) 62511%20 % - IEI LI]\ D\J—ﬁi -4 .i’)t @ a_ *;I_'ft 17P
.0% R ! . — s 2
{ﬁ%i&fﬁ% Ei‘%f‘/@%i 2 It e *@;ﬁ; e
Lo fg% Ao 7 12 % B léikr%[‘ﬁggnlﬁg,% /\‘/3/§$ 19P
woE CLECETALE B e, 2R sRBm  20p
pEanosRe - B4 v M5 T 7o A W55 S MRFEOERE! ) 21P
4181.8195M( L& 77 % TZ mik EHSHEER, N\F ZH. ZEBE P
32255H g 1oomm 8% & H7d EE/JE, I O '] A g 4 LE 4 .l{\%%ﬁ;’éﬁx ﬁﬁﬁ%ﬁeyﬁ; i 22 - 23P
wolifhen SHTS Wy @ Cuorats T5 R, 6Ra5 25p
i e S vl S SRS TR RO
125 %) AZ A S 20 D PITR . . 27P
10R4SOBRIS.2 0ORF(0.7%) 786,70 /F(2.4%) 7% )ik g‘ % T % i v H < 7? N7 m SEDBEFA, %B\H 202
3@1%?535{;?1 .0%) 2f81,00 B (57.2%) £l i Hj E '§: S 3 % s é PEA :33'{‘/77104—:/3 ;Eﬂ%E% 28P
=1, 5 ' N H RN — ==
A (a28%) L axh s L2 3 SERY B & O RRHM RE20H A
O k818 ( - ) 93[]6\ ﬁ‘b ; ﬁ %g%gic: 75’% .i T 9T AT
mem f 3 . ) T
B0.1%) 2849875 s oni T %6 R
3,0005 % Pt K A i 2 b
5 ho Cotatit
? il hs L
oI ER Fis
sc R e ThHAL X SR Ox ChI-BDSHE
ppcanaLs 100BE(C 7N
/\f,ﬂj}\’c“mggiﬁ’ﬁ%j:wd\g S AT NERORE PRS2
R laT S EUEI T SN - Erez,:jaywww\;*;%éna\i@
PREm® Auzas o h S T o mm. % Eja\/;mxwu%ib ﬁymgﬁsaww?ﬁg@t
: , : H - S ALY B G WSS
i T2 4,8567 ] 72 —= < < A - EEE ¥ A 3. nic pies =
TAE S0 l?oj% (28.6%) oy 2= < i) < Iz /%}DJ = M= 7 H :Fﬁjzz 7 0.000 HES MFRE. =| T. ED
288 : 'li‘/oﬁygjyggﬁ ‘{Tﬁﬁ&bgiak- s g Iy = 3,20, A 16.5 £Z0D— ’) CEHE 2
66437 5 L & YR D b Tl e b =L S X = 3 854,660 7.2 ES - GRS IEBIC
.0%) S # % ) i 2% o B il ok VE 15 = & =t L, 0 A=K 'S EBED
e Hee e el T SALLINS 3 TR on T g = 2 & & & 722.30 AL =NT cISTIEE
e W oo smere - S S BTG i 2Ry 0 R E R 5 593001 2 855 B omeaa g R
1083.11557(3.2% ' (O AR B s =5 4 2 T3 L ’%‘f it 69, - 51 2O <BHEEH "TLEL
; o — S — — — . > iz 4,300 = N Dgs ~ %Z
4,285513(0.0%) B A FRI19EE j? i gﬁ@ Wik T i T ); %ﬁ 2 TERNS 5 A = rfg o B 429,000 = g:é Eimg@g](gtaﬁ“tgeéﬁ
A - FR20% mo il m ERH § S e 3.2001 230 S IADBEZNTT,
005F(0.1%) 3 B3 ) o gD I it ﬁﬁﬁiﬂ%gﬂ 310 = 6.0 1=, ZE2L<DTSIJUAD Oh—#&I(C
F 3,0 3 e o T 1I-‘£ ° F lflj] i Lgiggﬁ%ﬁ A % 378.300 x50 Fﬁﬁ\]:}-éfég afugztua%ajiﬁhb\°
— - Mgarna H 7 2Ll oK 44,500 2 =t Do R .
sos30or B Ghusiaal o g D o EEREES S — %LHBTED BEONENE - - -
OB 3% wgamo A 15 s or 8 = H i & BEIRSAEBA L= = MLLFE
: Bty COT R L 1T ; = & & B ’ 126.
many | OR0Z0DH 4sﬁ’§%§°°ﬁﬂ 4 " 20 I {F;PE? ? ] !‘- e : fi &= o | i 19 uy% 19,200 A T4
wans 320 (15.2%) Fyo o I 1t % = A& g8 AN R & EENTTE3 1,229,950 AN 470
18{87,17455F 2] ° h WV L s ﬁ; — & b= :ﬁ E > T ;Iiﬁ 1 3¢ , 73,058 A 8.9
5.5% = ;55/“1/;2;@;’)20 ?[T]%- S fa;o . - ﬁwﬂguziz 5391568
NEE i 7 ){Iiflh < X . P aa— g .
» A EPE I 2 CE—
s ' T 2oy 37T \
(14.2% ‘42{;?&%85':] ﬁ}]l—l/g 7;— %j E’\J )T: %’E\ % £\\ ﬁ 6 i ﬂ
(13.4%) - o KW & T
T o 7 9%) ~05 % ]-I]ﬁ ﬂ % ~ 0) =
8957 3% 2.8%) l—ﬂﬁjﬁ?gdg 650
5 (42.8% Hzo '
R osimin (42.5%
B ramen

2
& 200848
BHE > A TR
N 2008F 4B

AERE

3 EEEv





